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(A) THd sadeIs & fore a1 org 9 & fore A Tfteur :

AT U 31 Tt & - forar 1t 1

Mn+ + ne~ = M(s)

3 Od o1 fava g 9 g1 91d foan Sran g

E e = E®Mney — (RT/0F) In[M]/[M™]
s 3 & forg [M] = 1

3Hd:

Epne/M = E® vna/m — (RT/DF) In1/[M"*]

B3|

EMne/M = E® Mnsym — 2.303(RT/nF) log 1/[M"*]
b 25T TR

2.303(RT/nF) = 0.059 (THI RRI®I & A IWH )

Epne/Mm = E Mns/m — (0.059/n) log 1/[M™]

IR THIHRU B Uhd SATCIS Bl A-ee THIHR0 Hed g
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JW : (1)Cu2* + 2¢~ =Cu

Ecuz+/cu = E° cuze/cu — (0.059/n) log 1/[ Cu®']

(2) Ag' +e = Ag
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E pg+/ag = E© ags/ag — (0.059/n) log 1/[ Ag*]
Or

E pg+/ag = E° pgs/ag + (0.059/n) log [ Ag™]
(3) Cu(s) = Cu** + 2e”

E cu/cuz+ = E° cujcua+ — (0.059/1) log [ Cu**]
(B) fo<ll Iet & forg A-iee w¥fiepvur :

U SHTd I & ISTERUI gRT IHST T 5 |
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Zn(s) / Zn**(aq) // Cu**(aq) / Cu(s)

a ffifesan

gt gaacls:  Zn(s) - Zn*t +2e—  SfiGfiBRT
Il gaagls: Cu?* +2e” — Cu(s) e

Zn(s) +  Cu®**  —Zn**  +Cu(s)

SRIad I & ferg Aiee THimRor g UeR O ®Ifd & o §
(1) Zn®* +2e¢ — Zn(s)

E Zno+/zn = E%Zno+/zn — (0.059/n) log 1/[ Zn>*]

(2) Cu?* + 2¢ =Cu

E cuz+/cu = E° cuz+/cu — (0.059/n) log 1/[ Cu**]

JHIHR0 2 H JHIBRUN1 B IeH W

Ecust/cu — EzZnot/zn = E° Cu2+/Cu — EOZn2+/Zn - (0.059/n) log 1/[ Cu®*] + (0.059/n) log
1/[ Zn**]

Eﬁﬁ? Ecen = ECu2+/Cu - EZn2+/Zn

EOcell = E° Cu2+/Cu — EOZn2+/Zn

3Hd:
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Ecenl = E%en — 0.59/n (log1/ Cu** —log 1/ Zn>*)
Ecenl = E%en — 0.59/n (Cu**/ Zn?")

e Tt aiflehan o fog e weftavor foral |

(1) Ni+ Cu?®* =Ni** + Cu

Ecel = E%en — 0.59/n (Ni**/ Cu®*)

7 I SRg & forg A=ive TR foral |

Fe(s) / Fe**(aq) // Ag*(aq) / Ag(s)

gt gaacls: Fe — Fe” +2e  sfiqflgenr

qrl goacls: 2AgT + 267 — 2Ag  SyTgT
Fe - 2 Agt —2Ag + Fe?*

Ecenl = E%en — 0.59/n ([Fe**]/ [Ag*]?)
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